WfTROJ D16M

CONCEPTS
Installation Guide

G
e
EM

Install pedestral (5) and table legs (1) together,
use 4*4 allen key (G) to tighten screws (E).

~
Accessory List
Attention: The drawings below are for reference only, which might
be slightly different from the actual product. For any missing tools or
installation issues, please contact customer service.
No. Image Spec Qty
A % M6 x 16mm 16
B = M6 washer 16
C ® M8 x 16mm 8
=l
\ D = M8 washer 8
T E SC, M6 x 16mm 8
: F % Allen Key 5 x 5mm 1
Technical Data
G = Allen Key 4 x 4mm 1
Max Loading Capacity 80 KG/176.4 LBS H ) ST4.8x 16 16
Height Range 725-825mm/28.5-32.5in [ = M5 washer 16
J
N

A\

Please pay attention to the installation
direction of the legs. The short side of the
table legs is on the same side as the leg nut.

STEP 2

M6 washers

x8

~

G
” [ J
4x4

~—

Part List
No. Part Qty | No. Part Qty
2 2
Table Leg Middle Crossbeam
No. Part Qty | No. Part Qty
2
Left Crossbeam Right Crossbeam
No. Part Qty
5 2
""" Pedestral
No. Part Qty | No. Part Qty
@ <;<’> 1 @ 1
Table Board Table Mat
No. | Part | Qty | No.| Part | Qty | No.| Part |Qty| No.| Part |Qty| No. Part Qty
[ Cmm— %
ERCIE s @) B s a2 1
Headphone Table board Desktop
holder connector piercing cover Protective sheet




STEP 4

‘ 1. Install the table connector on the table board‘ 6

2.Connect the headphone holder to the table board

Note! Headphone holders can be installed in four different
positions according to preference.

-
-
STEP 5 No. Part Qty HX16
€
42 1 q
‘Installing the table board‘ H Protective Sheet x16

Attention: During installation of the
tabletop, a protective sheet (such as the
protective packaging included) is advised,

to reduce damage and scratches.

Protective Sheet

STEP 6

‘ Height adjustment ‘

S

u-h\n-.._“__

o———

2 ol
ool
(=)

Before turning over the desk, please adjust the height of the desk to your needs.

Loosen the screws with the Allen key (G) and then pull on the pedestal, raising it

to the height needed. To ensure the table legs are of the same length, please use
a measuring tape.

Install desktop piercing
cover and table mat.

The table mat does not come with premade §
holes for cable management, to let you
g choose the placement freely. Depending if

i you want to have the cables on the left
side, right side or center, cut a small hole
into the table mat.

Adjust the mat under the pedestal if the desk
does not sit flat on the floor.

To prevent possible harm to the environment or human health from uncontrolled waste
disposal, recycle it responsibly to promote the sustainable reuse of material resources. To
return your used device, please use the return and collection systems or contact the retailer
where the product was purchased. They can take this product for environmental safe
recycling.

A SAFETY NOTICE

1. Carefully check that the table is correctly and completely assembled before start-up.
2. Familiarize yourself with all functions and settings of the product before using it.

WASTE DISPOSAL
This marking indicates that this product should not be disposed with other household wastes.
|

&
INITRO)/

COnNCePTS

Nitro Concepts products are
manufactured on behalf of

3. This product‘is‘ nof a toy. .Do not allow children to play with it. If this piece of furniture used by or near children, pro Gamerswal‘e GmbH
close supervision is required.
. Use the device only for the purpose described in this manual. Gausssu‘ass'e 1
. Do not use the device outdoors. 10589 Berlm

Do not use attachments that are not recommended by the manufacturer. Germany
Do not sit or stand on the table. Do not lie, sit or crawl under the table during operation.
. Place the table only on flat surfaces and floors.
. Do not use corrosive or abrasive materials to clean the device. Please make sure

to use environmentally friendly products. Remove dust with the help of a damp cloth.
10. Always make sure to dispose of the packaging materials carefully to avoid endangering children
e.g. danger of suffocation due to plastic.

© ® N oA

info@nitro-concepts.com
www.nitro-concepts.com

11. If necessary, keep the original packaging of the device in case it needs to be transported at a later date.




